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QUESTION 1

When configuring a checklist application task what value must be select to ensure you will only be able to select from a
list of employee tasks verses manager tasks?

A. Ensure the owner field is set to employee.

B. Ensure the eligibility profile linked to the task contains criteria the include only active employees.
C. Ensure the owner and performer are both set to employee.

D. Ensure the performer field is set to employee.

Correct Answer: C

QUESTION 2

A Human Resource Specialist is hiring a new employee in the application. While creating the employee record, he
enters personal information and employment details and, when submitting the transaction, encounters an error. Part of
the error message reads "NewPersonEmploymentApproval to
NewPersonEmploymentApprovalRules_NewPersonRuleSet failed with Business Fault: null. Check the underlying fault.
Check target SOA component for cause”. The Human Resource Specialist raises a service request with the internal
support team. What is the cause of this error?

A. The Update Person Keyword Search process must be run before hiring a person.

B. A security profile needs to be defined for the human resource specialist to hire a person.

C. The BPM task NewPersonEmploymentApproval is not set up properly.

D. The Human Resource Specialist does not have the required privilege for the New Person Employment process.

Correct Answer: C

QUESTION 3

An employee starts employment with her company in France next month. She was employed by the enterprise in the
United States for several years, but resigned two years ago. Identify the correct statement about the person number for
the employee.

A. The employee has a person record with the enterprise so she will continue with the same person number.

B. The employee gets a new person number for her employment in France if the legal employer sequence is used for
person number.

C. The employee continues with her old person number if global sequence is used for person number.
D. The employee\\'s new person number will be her previous number suffixed by -1.

Correct Answer: A
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QUESTION 4

The Human Resource Representative of the organization is trying to set up the grade rates. During the process, she
realizes that the grades were created without steps. Identify two options for adding rates to the grade. (Choose two.)

A. First add the rates for each step, then add the grade to a grade ladder.

B. Add the rates separately using the Manage Grade Rates task.

C. First add the grade to a grade ladder, then add the rates for each step.

D. Use the Default Grade rates that are available upon creating grades.

E. Add the rates at the same time as when you add the grade using the Manage Grades task.

Correct Answer: BE

QUESTION 5

When an HR specialist searches for Awards and Honors, such as "PhD", the Person Gallery page displays only the
direct reports of the HR specialist who comply with the honor. When the HR specialist searches for areas of expertise,
such as "Oracle Global Human Resources Cloud", it displays all the employees of the organization who has Oracle
Global Human Resources Cloud as their areas of expertise. Identify the reason for this behavior.

A. HR does not have access to other departments where employees are "PhD".

B. HR has access to Oracle Global Human Resources Cloud department.

C. PhD is a sensitive keyword and is used elsewhere in the person\\'s information.

D. Areas of expertise is public information.

E. HR does not have access to the "Experience and Qualification" card.

Correct Answer: D
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